EARAZROREIERT — 2 N—XBISY —F 20165128188 (H) 20[@E£R1H

m#7¥ # C210 B I
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 B # 3 | SWESE 1:34.0 3-3-3-3 | 40.6| — 1 459 | RIIHEZ (£R)
1189 |F—1> 54.0 1 oy |REES
LT RIAYTy X B:a—%ysa17— =2t
N £ 3 | BEEILA 1:34.6 4-4-4-4 | 40.3| — 2 450 | HARRK (£R)
2(1]1|#1F “ 7 86.0 3) © | @) 7r-2bEYa>
R:T7T1T713IVF— BT7FH BORMOS
N BRABLRE : -1-1- - MEBED (&R
s 4| 7T LI z5 1.(335).3 1-1-1-1 | 42.1 7 (4_117) A(*ﬁ) ELER
LixVULTy R A ZAL BRAS
= $ 4 3 | HREBER 1:36.1 6-6-5-5 |41.4| — 5 400 | BIERZ (£R)
a7l 7|74 E=ZARILT 5.0 (4) 7 |, @R 77—/1 fEY 3>
L:O0-T>9)> B:ILCFFAERL HET7—L
. i 3 | BIURT 1:36.3 2-2-2-2 | 43.1| — 4 432 | BRI (£R)
sPldo| V-7 RR 54.0 (3/4) © @) J PN
LixrTFo by —L B FTLIUFEXR HESH EVRU—K—ZTFLF
= ft 3 | REXA 1:36.4 5-5-6-6 | 41.4| — 6 M4 | EA—B (£R)
cBY 3| N—T1T7TXb 54.0 (1/2) Loy | (B JP N
R:FHYRTIRE BN—hTED— EBE B
76| VN—RTHT # o3 ?é%?ﬁl 1:(347).2 10-10-10-8 [ 40.2| — | 3 (fﬁ) igfr (&R)
R:T7T17143VF4—- B:ALIYTFARZa1— F=H XF
S S 4 3 HE Bkt’@ 1:38.5 8-7-8-7 |42.4| — 9 473 | JNIZRBABL (£R)
8|55 ¥>ra ® w20) | B K—R 5P
L:8=/FLLy b B:21IAIHTTXE s fx
Ve 411 | $BARK— 1:38.7 7-8-7-9 |42.5| — 10 469 |EH R (&R
9|8l10| ETTFAF 6.0 (1172 a) | EEE
RHISFhet— BILHC Y F— RS
. Fre=rram %0) 90 2] - mIgsLE (£3R)
10l7lg| by TILFor— H 5 A 1(490)6 9-9-9-10 | 44.2 8 (5+056) s
R:vY I by THY BNy INUYSE KT 5
® 1—F—@EBIERL
1T=7r= 4,2,9,1,3,7,10,5,8,6
23— — 4,2,9,1,3,7,5,10,8,6
Ja=5= 4,2,9,1,7,3,10,5,8,6
43—+ — 4,2,9,1,7,3,5,6,10,8
[ N5
B 9 110 714K 1-9 140H B 1-8 320 JEE 1-4-9 4,010/
B B 9 1004 4-9 1,380H e B 8-1 480M JEE 9-1-4 5,350
1 1004 1-4 4,830 B & 1-9 200M
4 610M B H 9-1 340/

ABTICOVTRDTEEERROODE, JHB LS,



